Arm Attaching Hardware
(After 6/23/99)

Front Arm Socket
for
AllArms

Rear Arm Socket for
Conventional Arms
w/o Adjustable Angle Back

Rear Arm Socket for
Conventional Arms
with Adjustable Angle Back

Rear Arm Socket for
Space Saver Arms

SCM_019A



Arm Attaching Hardware

(After 6/23/99)

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1056405-NLA | NLA - H-Block with Socket Cup 1 2
2 1055347-NLA | NLA - Screw, Hex Head (1/4-28 x 1-1/2") 1 2
3 1025765 Locknut (1/4-28) 1 2
4 1055347-NLA | NLA - Screw, Hex Head (1/4-28 x 1-1/2") 1 2
5 A 1055298 Screw, Hex Head (1/4-28 x 1-5/8") 1 6
6 B 1026907 Washer (1/4 x 1/2 x 1/16") 1 8
7 1087220-NLA | NLA - Screw, Hex Head (1/4-28 x 2-5/8") 1 2
8 1056406 Cup, Socket Pivot 1 2
9 1089569-NLA | NLA - Label, Bracket Warning 1 2
10 G,H 1086663-NLA | NLA - Bracket, Armrest, Outside Mounting 1 1
11 1087219 Spacer (1/4 x 3/8 x 1") 1 2
12 1092642 Bracket, Armrest, Inside Mounting 1 1
13 C 1025765 Locknut (1/4-28) 1 8
14 1026099 Spacer, Coved (1/4 x 11/16 x 1/2") 1 2
15 D 1087094-NLA | NLA - Kit, Arm Mounting Hardware, Conventional 2 1
(Pair)
16 I 1127074-NLA | NLA - Bracket, Armrest, Outside Mounting, Black 1 2
17 I 1127073-NLA | NLA - Bracket, Armrest Mounting (Inside) 1 2
18 E 1127079-NLA | NLA - Kit, Arm Mounting Hardware - Conventional 2 1
Arm
19 F 1087095-NLA | NLA - Kit, Arm Mounting Hardware - Space Saver 2 1
Arm
NOTE: A -4 ea. are required for Conventional Arms.
B - 6 ea. are required for Conventional Arms w/o adj. angle back. 4 ea. are required for Conventional Arms with adj. angle
C _t%agl; are required for Conventional Arms with adj. angle back.
D - Chairs without adjustable angle back. Includes items 4-14.
E - Chairs with adjustable angle back. Includes items 5-8, 11,13,16, & 17.

F - Includes items 4-6, 8-10, 12-14.

G - When ordering this bracket, item 9 (Warning Label) must also be ordered.
H - No Longer Available.
| - No Longer Available individually. See Kit # 1127079 for replacement.




